


EX 1 Eighty percent of students need a review before moving on to a
new topic. If there are 48 students in the class, how many need
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EX 2: You bought a car for $17,500. Now it is worth $5,000. Find the
absolute and relative change in the car's value.

EX 3: Find the relative change when a quantity

a) triples.

b) quadruples.
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Absolute difference = compared value - reference value.
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EX 4: Compare the life expectancy in Canada ( 81.2 years) to

life expectancy in Russia (65.9 years).
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Of vs More or Less Than
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150% of the original price.
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150% more than the original price.
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EX 5: State each answer as a percent.

a) Saul earns 45% more than Carrie. How many
times larger is his income?
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b) A store is having a 40% off sale. How does the _C“WRS
item's price compare with that of the original? IncowAe
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c) The area of Colorado is 24% less than the area of

Norway. Norway's area is what percent of
Colorado's?

X= area of No‘Vuocua,
¢ = Colovado ameg = X -0.24Yx = 0.36 X

C=0bx%x
DG 0.6

X |.32 ¢
= area of N&waa is 132 Rovos +ha

Oul'm of (olmrqelo) which Meany
fAg \22 7 of (olsvados areaq .



